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A si mplset astoel iIQRP transceiver
A u
c

transceiver for the 40m band. It ses common
omponents are not critical and can be deter mir
Adj ust ment begins with the trim pot, adjusting
transistor, without signal (di sconnect the trar
components, and following with a dummy | oad, seE€
mum power . It ought to be around 10W or mor e !
oscillator transistor decreases, causing it to
di ode with the signal from the antenna (the 1M
sing the sensitivity). The resulting signal i s
be used, such as the popul ar LM386 As for the
obtain other power output
Advant ages Power of about 10W, good sensitivit
cuit simplicity, uses junk box parts, clean auc
Di sadvantages: The same found in any QRP transc
ves this probl enfi.i IlItte rreedqg upiorweesr as uwepllly , or use a
the transi tors
Circuit notes:
1) Use three 40m crystals in parallel

2) XRFcommon RF choke, 10 to 22uH
3) Adjust the trimmer potentiometer for 10mA cL

4) 6 turns adjustable wire on ferrite core, die


http://mail.actionpcs.com/images/stories/gallery9/circuits/circuit2.gif

